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Today people use the Internet for a wide variety of services. How should we count this increase in our well-being in GDP accounts? 

A) The total expenditure on Internet access by households and businesses
B) The value of businesses that provide Internet services
C) The value of services that previously had a cost but now are nearly cost-free on the Internet
D) The value determined by a survey of households asking how much they would be willing to pay for Internet services now provided nearly cost-free
E) Expenditures on Internet access plus the value of advertising that lowers the cost of Internet access
